KB — 1 KERBFEE

AA—AZ=YDKEREEE

ERKEEKEREEE - AR )
= AO— AN EERT R (/e A)
2000 20000 X 7}( ;ﬁiﬁ Eﬁtﬁ % :
- KFRE LT, BiL, ARIHBAIRA
1800 ¢ 1718 | 18000 HArlgElhE, BKENOEERHICLH>TEL

ONESEZSIN =L OICHRMMBOEREZ
|1 LB,

1600 |

1 | ™o ETHRAKRE: BE (1971~20004)
o | 1 12000 A (1961~19904)
o 2
5o {10000
g i
?H_ 500 1 8000 LE

600 ¢ 05 )

BERSEEERO

T~ 14O A0 — A BF=UD
- KERBIERHHS.

(£ETIE184%)

200 ¢

R F-23UF 7AUA A2 B HREE BEE

X1 PAREGE: BE. FE.EZRE, @#mX)
2 KEBRREZEITEHET—2THS,
3 FE. 2EFHRVEREET—4%: EXXEAKERE (E/RISE)
4 BEET—4: I5KLFEKTSVICERMIIEIA) 5




KR —2 [ ok 2

SETH 1, 718mm/E »n. N Al
h%ilﬁé] 1, 420mm/£|£ -

R

2K 2 (mm)

1,000
1,250
1, 500
2,000
2,500
3,000
3, 500

FWEZ(em)
0 - 100
100 - 200
—— 200 - 300

BEH: 1971~2000F F 17— 6



KIRIEE—3

BAHAEH-0T . ENVT
ELWVKZEDIKHH

SHD KA
FEE M, A =

EDKHD
B ILAR, RE LS

-TED KM
Tk (2 )

BN ThizLEb0BLEER I (RELERG, H15.4) 7




